Q. 1). A transistor-oscillator using a resonant ABLES ‘.

circuit with an inductor L (of negligible
resistance) and a capacitor C in series
produce oscillations of frequency f. If L
Is doubled and C is changed to 4C, the
frequency will be :-

(1)4i (2) 8 f
f f
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Q. 2). The following figure shows a AND logic
gate circuit with two inputs A and B and
the output C. The voltage waveforms of
C will be -

A Logic gate

circuit
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Q. 3).In the following circuit, the output Y for -
all possible inputs A and B is expressed ABLES
by the truth table :-
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A NOR NAND NOT

Q. 4). The lL‘,ircuit6
is equilvalent to @
_MTNOR gate (2) OR gate

(3) AND gate (4) NAND gate
Art + 1+
LA*B)+ (A-rB)
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Q. 5). The symbolic representation of four ABLES o

logic gates are given below :
A

O D G )
(i) e e W] s

The logic symbols for OR, NOT and
NAND gates are respectively -

(1) (1), (i), (iv) (2) (i), (iv), (ii)
(3) (iv), (1), (i) JA) () (i) ()




Q. 6).To get an output Y = 1 in given circuit
which of the following input will be

correct : A
D
D
c
A B C
(1) 1 1 0
2) 0 1 0
(3) 1 0 0
Nz 0 1
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Q. 7). The figure shown a logic circuit two
Inputs A and B and the output C. The
voltage wave forms across A, B and C
are as given. The logic circuit Agaée IS c
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(1) AND gate (2) NAND gate

v(,a(OR gate (4) NOR gate
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Q. 8).Which logic gate is represented by the ABLES .
following combination of logic gates ?

(1) NAND
(3)NOR - A+ (4) OR
A




Q. 9).To get output 1 for the following circuit,
the correct choice for the input is.

i
;

(1)A=0,B=1,C=0
(2)A=1,B=0,C=0
(3)A=1,B=1,C=0
U A=1B=0C=1
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Q. 10). In the combination of the following ABLES ‘o

gates the output Y can be written in
terms of inputs A and B as :-

Bt — )
(HA.B \/&TA.§+K.B
(3)A.B+AB (4)A+B

V- AB +Ab= @10
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